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1. A device for connecting dissimilar networks:
1. Internet address 2. Gateway
3. User Datagram Protocol 4. Transmission Control Protocol
2. A combination of text with sound, video, animation and graphics
I.Multimedia 2. Expert system 3. Telecommute 4. Information superhighway
3. A process of filtering through large amounts of raw data for useful information
|. Data mining 2 Al 3. Cleansed data 4. Data warchouse
4. The core of an operating system that handles memory allocation, talks to hardware
devices and makes sure evervthing keeps running
1. Kemel 2. Free Software Foundation
3. Source code 4. Open Source
5. A system that allows a user to interact with a computer using a combination of inputs
such as speech recognition, hand writing recognition, text to speech and etc.
1.GLT 2. Mulumodal interface
3. Intelligent agent 4. The Intelligent Room
6. Common enterprise resource planning tool
1. Bandwidth 2. Broadband 3. Data centre 4. SAP
7. Standard used by software that manages communication exchanges betwcen computers
on the Internet
1. Internet address 2. Look-up table
3. r Datagram Protocol 4. Transmissior: Control Protocol
8. An email transfer process in which the recciving computer initiates the connection.
1. SMTP 2 Push 3. POP 4. IMAP
9. Meta-languages is:
1. Extensible markup language
2. A coding svstem usad fuor structunng and formatting documents
Data 2bout data
3. An example of a page presentation Language

4. A language from which vou can create other lunguages
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10. ADSL is:

I. Digital channel used to curry ISDN signahing and sepervisory information to the network
2. Device installed on a PC to allow it to recewvz ISDN «ignals
3. Addressed Digital Subscriber Line
3. Asvmmetnc Digital Subscriber Line
11. To decrypt a received message
1. sender’s pnvate key Y trusted issuer's private key
3 the recrpient’s pnvate Key 4 the reciprent’s pubhic Key
12. An OOP property that enables different objects to deal with the same instruction in
different ways
1. Encapsulation 2. Object 3. Square 3 Polymorphism

13. A telephone that can translate English into various languages in real-time

|. Smant phore 2. Intelhgent agent 3 Rocket svience 3. Supercomputer
14. The students are still waiting for their ........ +vree N0 the computer Science program.
]. acceptance 2 accepted 3 acceptable 4. acceplabiy
15. Some people working in computer installations aren’t very . .. .. because they are
shy.
I communicaton 2. communicable 3 commuticative 4 commun:cably
16. Very often manufacturers provide ....ooooeen representations of the internal

workings of a computer.

1. diagram 2 diagrammatic 3. dugrammancally 4 disgrammed
17. Which one is not the synonym of others:

I mmble 2 wwift 3ot 4. agile

18. Which one is the antonym of others:

1. 'ntncate 2. enncal sophasticated 4. complex

19. The promotion he received wasan .. of his excellent work.
I tranguility Yackrowledyment ¥ poienous 4. depicton

] [ § T —— of shock waves determines the damage that vecurs during an earthquahe.
I sunvey 2 conplex 3ooneted < Iagrnittde

- 344 -



21. The ............. economy is expected to continue growing quickly.
1. robust 2. bus 3 feasible 4. Conservat:on

22. The directors ................ the actors before the performance.
l. exaggerated 2 ndicated I primed 4 cludedd

23. Although working closely with the government, all businesses function ......ooovvvvnni..
1. haphazardly 2 awonomously 3. agiliy 4 Albeu

24. The young Einstein was brilliant: a prodigy in physics and math and an accomplished

viulinist.
1. 2 handy 2 askilled 3.2 practiced! 4 awall-known
25. Poople 0l ....ouxc0iiivnioss write their programs in 1.2 and have the computer execute

them directly.

1. readily 2. sample 3.sumple 4. nenously

Translate These Paragraphs:
I. Computers have circuits which can make decisions. The kinds of dectsions which
computer circuits can make are not of the tvpe: ‘Who would win a war betwesn two
countries ™ or “Who is the richest person n the world™ Untortunately. the computer can only

decide three things.

2. Source code is important [t's the onginal from which compiled programs are
generated. If you don’t have the source code 10 4 program, you can’t modiiy 1t to fix bugs or
add new features. Most software companies won't sell you their source code, or will only do
so for an eye watering price. because they believe that if they make it available it will destroy

their revenue stream.

3. XML, unlike HTML. is concerned with the identity, meanin2 and structure of data.
XML is extensible because it lets website developers create their own set of customized tags
for documents. This ability to define your owr tags is the maim feature of XML and it is what

gives developers more flevibility.
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4. A second key feature of OOP is inhentance. This allows OOP Jevelopers to define
one class of objects, sav "Rectangles’ and a specific instance of this class, say "Squares” (a
rectangle with equa! sides). Thus. all properties of rectangles - "Has 4 sides’ and “Contains 4

nght angles’ are the two shown here are automatically inhented by Squares.
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Choose a, b, c, or d which best completes cacii item.

1. Which of the following statements is False?
a. All computers accept and process information i in‘the form; ofmstruumm and characters.

b. There arc many different devices vsed for feeding 1v1fmm.mon into a computer.
~c. A computer can store or handle any data even if it hasn’ lr&.cc:vcd mformation to do so.
d Not all computers  can perform arithmetic opcmtmns makt_ dL.Cls:om and communicate

in some way with the uscr.

2 Ii] which statement the seccond word is not a syrnenym for thc (irst word"
First word Second word '
2. designen . owvravrn o . deviscd
|87, T figure out
A T T (- R —— ceerveeienee . @ great deal
d. machinc................. e veirreeennn.. device _
3. A computer is limited in its ability by the ..cocoeoiennnane. of'man.

a. imagination b. imaginative ¢.imaginable <. imaginary

4. Inwhich statement the sceond word is not an antenym for the first word?

Iirst word Second waord

MR} 0T DR —— s 5 mallunction
Jbojob. task

€ SPOMWID i n smmvssvoin s ——— ~... suddenly

o exeeplional g ss s srmssnmes i s . lypicai

5. Which of the following statements matched \\iti\,}l \vord “dc:(, smn-mdklmv opcrations”?
a. All the equipment needed input, process and oulput mfommlmn
b. Can solve different types of problems. it

Decides what the program is to be,

.
d. Those which compare numbers. : ,
6. What is the synonvm for the word “infer™? i
LA disregard b dcduccQ ¢. overlook A drspcn.sc with
Lo w msormmssm s plexing is when miany clectricai signals m nmhmcd nnd cartied on only ane

optical linc. e _
A. Multi- b. Scini- ¢. Inter- o LI.'Aum-
8. Which of the following statements is True?
a. A mainframe is the type ofcomputcr that can sit on top: ofa dcql\
b. The analog computer docs its calculations one step at a time,
¢. The digital computer continuously works out calculations.
¢ d. Mainframes «re huge powerful machines whose pc{"iph'qm] cqnipmcnl kes up alot ot

spacc.
O O A — consensus of opnmon that c_on.,mu.rw have im: psn\ cd the quality of
life. ;
A gcncrgllit_y . b. generally c. generalize d. pencral
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- What s the antonyvim tor the word “worsen ™!

A el Worse b. deteriorate <. deyenerate L. improve
Leaming a computer language is oo, ditheult SaNET sl L it seems
2. less - than b. fewer / than C.notas . as Jdonatas much as

2. Which of the tollowing statements is False?

/. The CPU s made up of tour components.
b. The CPU is responsibic for all the activities taking place within a computer
¢ [he processor cannot operate an any intormation it that information s oot in main

siorage, it
d Only after the data has been processed by the CPU can results by transmitted to an output
dervice.
e cocovomputers are used tor printing newspapers.
A Now b ALpresent ¢. For the tine being d. At the moment
.. fhieve shoudbe A s unprovement in your Faglish at this point in the course.
4. aotice b. noticeably ¢. noticeable d. noticed

Which of the following statements matched with the word “control unit™

1. Directs movement of information between memory and arithmetic unit.

b Does the decision-making operations.

¢. Breaks down the coded information to be handled.  d.Chooses the instructions.
................. to their speed, computers are accu: e and ¢an da repetitive operations over
and over again without becoming tired or bored.

. Moreover b. Besides ¢. Furthermore d. In additien

. Which of the tollowing statements is False?

2. Core menmory uses small metal rings which can be magnetized or unmagnetized.
b. The state of the core can be represented by cither 0 or 1.

. Semiconductor memory was developed before core memory and after bubble memory.
d. Bubble memory is snaller than a chip. ., o

- Which of the following uifurmation matched with the word “spooling™

2. A Kind of tvpe writer.

b. Transfer information froin cards to tape or disk.

¢ Used itdatais lost

4. Storage medium o _

reieeieneen.., plastic pieces are stuck onto the tape o mark its beginning,. ;

a. Reflective . b. Reflection “c. Reflector - d Reflect- T
Wkich of the following statements is False? : 2 &

1. Not all disks are made from a rigid material. 8

b. Bits are magnetized grooves in the surface of a disk. g

<. Mawn:tic disks are better than magnetic tapes only because thry provide large amounts of

staiage.

JdInformation on eylinders is accessed one track at a time.

e of the following werds matched with the information “one cylinder for every

cheracter position™?

a, laser printer b. Livain ¢ Jrum d. impact
i o hich statement the seoond word is not a synenyin for the first worg?
First word Second word
Sl R S e s S S T remose
bl . e R ot oblain
R o 5 e b A o bl N facility
FEXIRSIRG (i N S e e AR fimited
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23 Which of the 1ollowing statements is False? -
. The binary system has only two digits. _ ]
b The hexadecimal systemn is an economical way ot representing the bm.\r}r :y:.tc'w
- Inthe decimal system, the 0 ts called a bit.
d The digital compateg uses the decimal number systern.
M. 0ur m.uhs ................. explained to us the principles of binary arithmeric.
a. instruction b. instructor ¢. instruct d. instructed
23. Which ot the following information matched with the word “object proeram™?
a. To solve a particular problem.
b. Dirccts the processes of the computer CPU, and peripherals.
. Conncects routines with programs in memory.
d. Program translated to machine code.

Fill in the blanks with the appropriate furm of the word eiven,

l. permit
a. Itis u>u.11'\ {1 . to smoke in a computer installation,
b. Computer .................. people to use their time more effectively.

¢. Building ....i............. is usually required before starting any renovations 8 a building
tor a computer department.

2. decide .
2. THE wevvveivineen.... to coRtinue space e\ploratlon will cause a lot of expense.
b. A programmer ...............l what the computer is to do, and without the provram.h
computer cannot process the necessary mfurmatmn.
B RCHIOL e JaceTione. VO whdl success fiber optics will have in computer
; technology. - : . '
3. Fillin the blanks with the following words. doomy o _ , '
cvlinder b - hard dtsk g fixed-head
platters pk . - e recording head
<artridge diskette - ¥ _moving-hcad ._
deta p.ll..}s k e

el

% 1) l'lnppv dlhl\s which are made from plastic are alse called ..ollﬁ,ﬁ.. AT
) A e is gocessed by all the recording hieads actmg at once.. .
g 3) D:ﬂks \\hu.h .m. not made from flexible plasnc are called ..... H...?";.;.'.’;'. :

e .\'hf‘n morc Lh:m onc p atter are plllcd on top of mch other: 11 :s rcferred m a5 A

L -
[P g o

)) ﬂu. Soaeiskasensis o fos BECEHS umrmauon from ezlhcr su!c of adisk.

: can be either single or muhlplc. ﬁ? . = hans =
-L:‘."-' T '.- ...... has ¥ Slﬂ"“e planer. S e . . el 2%
8) Hard disks can be subdivided into two KINAs: (oeeooeoeeenennsand vy ‘5
9) When the recording heads are included with the plauers. itiscalleda l.......... cSr— :

4. Translate the following passage into Farsi.

Nain  storage and the CI'U are connected to a concole, where manua! contro
opcrations can be performed by an operator. The censole is an important, but special
purpose. picce of equipment. It 1s used mainly when the computer is being started up or
during maintenance and repair. Many mini and micro systems do not have a console
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Choose a , b, ¢ or d which best completes each item.

B R RN ;
a. an instrument used for counting. b. the circuitry of fourth-generation computers.
c. a branch of mathematics. d. invented by Americans in '4%¢.
Y. There can be many ..o iaiven involved 1n setting up a computer in an old building.
a. complication b. complicating ¢. complicatedly d. complicate
¥. What s the antonym for the word “immovable”

a. anmovable b. fix c. portable d. take away
§. When the computer is down itneedstobe ........ e R b
a. repaired b. repair C. repairs d. is repaired
General-purpose compulters . ..............oc.o .

a. are all the equipment needed input. process and output information.
b. decide what the program 1s to be.

¢. produce a payroll very fast.

d. can solve different types of problems.

. Turnkey systems are .. ... ............ ;

A

a. the input/out put and secondary memory devices.

_ b. the physical electronic and electromagnetic devices.
¢. the hardware/software packages.
d. the computers.

. What is the synonym for the word “continue™

<

a. stop b. resume ¢.cometoanend d. end

A. Find appropriate sentence which is completed with the word “gencrality™.

. R — purposc compulers are larger than minicomputers.

b ltisthe .. ................ consensus of opinion that computers have improved the quality of
life.

¢. Minicomputersare .................. cheaper than mainframes.

d. It is often casierto ...... ........ ...thanto talk about specifics.

s

. Which of the following words match with the statement “where operator can manually operate

the computer™
a. minicomputer b. cartnidge ¢. miniperipherals  d. console
». What is the synonym for the word “connect™

—

a. hook up b separate ¢ break away d. take apant
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WoItis lruc thal ................. :

'

a. The central processing unit is made up of six componcnts

b. Sccondary memory and internal memory are located in the same place in the computer
system.

c. The contol unit directs the flow of information within the processor.

d. The proccssor cannot operate on any information if that information is not in main storage.

Y. Whether one is writing computer science related mformatmn or not, thic w of ovovossvswvnnini

ot R

- /very important.
a. connection b. connect ¢. connecting™" d. connective
\r. What is the antonym for the word “haphazard™

a. regular b. random c. chaoic d. jumbled
Vi, A JORICUNI v venvvmaanumm v ;

‘a.docs the calculations necessary to solve the problem.
b temporarily holds results before transferring to memory.
¢. dosc the 'decision-making operations.
d. produces timing marks. ,
X TR ROt oo v smsmurnmnes . B

a. Minicomputers and microcomputers have a sim:lar memory capacity.

b. The cpu can easily access information from inteinal storage.

¢. Disks and tapes can be stored in a libary.

d. computers can process information even if complete programs are not put in internal
storage. .

. Virtual Storage .................o..... .

“a. refers te memory
b. sometimes called primary memory
c. are storagc locations in internal storage
d. hooking up secondery memory devices ontaemory 1o increasc their capacity
\v. Which of the following statcments is false.

a. Semiconductor memory was developed before core. memory and after bubble memory.
b. Core memory uses simall metal rings which can be magnetized or unmagnetized.

c. The state of the core can be represented by either « or V.

d. Farly computer memorics has less storage capacity than newer ones.
VA. The programmer ran his program after ..... e . all the buges from it.

a. elimination b. eliminating c. eliminate ~ d. eliminator
14, Which of the following is an approperiate word for the definition *“a bit to detect errors™

a. reel b. hub ¢. parity d. BP1
.. Which of the following statements is true.
a. Disks packs are fixed-head disks.
b. To access information, the recording heads meve from one groove to another.
c. Magnetic disks are better than magnetic tapes only because they provide large amounts of
storagge.
d. Not all disks are made [rom a rigid material.

]
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Y\. What is the synonym for the word “disadvantage™.

a. draw back b. gain. . _ c benefit d. lead
¥Y. Monochromatic is best described as ........................ 5
a. TV screen of the computer b. Shades of the same colour

c. Light and dark of the same colour d. Pictures with motion

vr. Which of the following statements is false.

a. Coding sheets are used to writing programs. i
b. The most important part of problem solving is defining the problem Llearly

c. It is a good idea to test the program before adding the data.
d. Block diagrams cannot show relationships.

v¢. Can you describe the most important .................... of the computer?

a. characterize b. characteristic c. characterized d. characteristically
¥o. Which of the following information explain the word “compiler”

a. computer needs one for each high-level languace.

b. directs the processes of the computer CPU, and peripherals.
<. connects routines with programs in memory.

d. to solve a particular problem.

s Y Tl
Choose the appropriate form of the words to complete the sentences.
- @, - o)
\ Interchange, interchange ablc, inter changeably, interchanged.

a. The word ‘arithmetic-logic’ and ‘arithmetic-logical’ canbeused ..................... :

b. There is often &N us.vieeiiiveinien of ideas among computer scientists.
c. Thcrc is a big diffcerence between an input and output. "ﬁ\ese cannol be ... ;

.Or amzanon or amze organized, organizing. orginizer
g pan. 2

el e
a.Blocksare ........ PRI in terms of [iles. ) - .
b. The efficiency of a computcr centre depends partly onitg .................... and personnel.
c. The computcr centre is planning to ................... gvided tours of the computer room.

Y. Fill in the blanks with the following words.
Wp“k-h ¢ -semiconductor chip “- ©

¢ - 'microprocessor _circuit board Y ! primary memory<Z -~
- “minicomputer Lmicro ~memory *
Ve e are often refferedas ................... for short.
N S—— e system is conposed of ...l S and peripheral
equipment. ' '
§ U —— of a microcomputer is usually butlt as a single .................. device
KNowi s & e :
. Micro computers have smalt .................. and cannot be hooked up to as many periphcrals as
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of e
peripherals for microcomputers.
¥. Translate the following passage into Farsi:

are normally used for the processor, memory and electronic controls

The function of the control unit within the central processor is to transmit caprdinating control
signals and commands the control unit is that portion of the computer that directs the sequence or

step-by-step operations of the system, selects instructions and data from memory, interprets the -
program instructions, and controls the flow between main storage and the arithmetic-logical unit.
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Which of the following statements is False?

a. Computers can still be usefull machines even if they can’t communicate with the user.

b. All computers accept and process information in the form of instructions and characters.
¢. There are many different devices used for feeding information into a computer.

d. The information necessary for solving problems is found in the memory of the computer.

In which statement the second word is an synonyms for the first word:

a. predecessors contemporaries
b. tiny large

c. reject accept

d. away a mean

Which of the following statements matched with the word “chip”?
a. Used in mathematics.

b. Circuitry of fourth-generation computers.

¢. An instrument used for counting.

d. A branch of mathematics.

Computer ------ is a fast growing discipline.
a. technology b. technological
c. technologist d. technologically

Which of the following statements is True?
a. A computer can do anything until it has been programmed.
b. Computers do not usually make mistakes unless they break down.

c. A computer can think and solve problems by itself.
d. A computer is a single-purpose machine in that it cannot be programmed to solve various types of

problems

In which statement the second word is an antonyms for the first word.

a. infers implies
b. joined integrated
c. area field

d. well poorly

The most commonly used language of programming in the business community is --------- ;
a. analog b. hybrid computer

c. digital. d. mainframe
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8. Memory and primary storage can be used inter- —------,
a. changing b. change
¢. changeable d. changeably
9. Which of the following statements matched with the word “console™?
a. processing unit of microcomputer
b. where operator can manually operate the computer
c. internal storage
d. attached to minicomputers
10. Which of the following statements is True?

a. The arithmetic-loigical unit of the processor is responsible for the interpretation of program
instructions.

b. The central processing unit is made up of three components.

c. New information are first loaded into internal memory, so it takes more time for computers to
solve the problems.

d. Secondary memory and internal memory are located in the same place in the computer system.

11. You shoud have a good basic understanding of computers ......... you finish this reading course.
a, later b. by the time
¢. eventually d. notthe same as

12. BASIC is probably ----- computer language to learn.
a. the least difficult b. the most difficult
c. the least challenging d. the most challenging
13. Which of the following words matched with the statement “hooking up secondar}; memory devices

onto memory to increase their capacity”?

a. internal storage b. sequential devices
c. real storage d. virtual storage

14. A programmer usually hasa ........ .. as well as logical mind.
a. creation b. created
c. create d. creative

15. In which statement the second word is a synonym for the first word.

a. major minor

b. frequently used common

¢. presence absence

d. vertically horizontally

-

-355-



16. The control unit, the arithmetic-logical unit and memory are the three parts that ....... the CPU..

a. divide b. comprises
c. constitute d. classify

— 17. Which of the following statements matched with the word “chain™?
a. characters move sideways
b. uses dry ink powder
c. uses special paper which is treated chemically
d. heat used to print characters on paper

_ 18. Which of the following statements is True?
a. all plotters depend on a moving pen.
b. plotters are considered peripheral devices but terminals are not.
c. blinking is one of the features which display terminals are incapable of.

d. both interactive terminals and plotters have to be on-line at all times.

19, -—---- the chip made it possible for minicomputers and microcomputers to be invented.
a. develop b. developed
c. developing d. developer

20. Which of the following words matched with the statement “pictures with motion™?

a. plotters b. dual-density
¢. dynamic graphics d. display screen
21. At the rate computer technology is growing, today’s computes -------- obsolete by 2020.
a. could not b. cannot
c. impossible d. might be

— 22. Which of the following statements is False?

a. An algorithm is a sequence of instructions used to solve a problem.

b. Coding sheets are used for writing programs.

c. All problems are equally difficult to solve.

d. Itis a good idea to test the program before adding the data.

23. Which of the following statements matched with the word “application program™?

a. to solve a particular problem

b. program translated a machine code

c. directs the processes of the computer CPU, and peripherals

d. connects routines with programs in memory
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~ 24. Multiprogramming is an example of ------------.
a. time sharing b. real time
c. batch d. on line
_ 25. A machine which is incapable of thinking but follows instructions is called ------- .
a. coding machine b. robot

c. register d. minicomputer

Fill in the blanks with the appropriate form of the word given.
|- measure
a. The analog computer is essentially used for problems involving -----------.
b. Because computer equipment is often bulky, the area used for a computer installation must be ----- out

carefully.
¢. The number of employee a computer company has can be seen as a ----- of its success in the business
word.
2- design
a. Due to the advances in computer technology, computer ----- are faced with a more challenging job.
b. Computers are ------ to process information accurately and quickly.
¢. Computer architects are constantly trying to improve on the ----- of computers, ~

3- Fill in the blanks with following words:
microcomputer minicomputer circuit board chip memory
microprocessor semiconductor micro primary memory  flowchart
1. ----- are often referred to as ----- for short.
A ----- system is composed of a ----- , ----- and peripheral equipment.
The ---— of a microcomputer is usually built as a single ----- device known as ----- ,

Microcomputers have small ----- and cannot be hooked up as many peripherals as ----- .

“os W

A few ----- are normally used for processor, memory and electronic controls of peripherals for
microcomputers. The ........access information from either side of a disk.

6. A --—- is either a group of exact sentences to solve a problem or a block diagram.
4-Translate the following passage into Farsi.

Flowcharting is one of the first things a student programmer is taught, because a flowchart shows how
a person thinks about a problem. In other words, it is through this that a new programmer reveals his or
her logical and analytical ability, which is a must in programming.
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1. Which one is different from others:

a. enormous b. gigantic ¢c. titanic d. tiny
2. Chips are more .......... when one is on a diet.
a. baffling /' b. temped ¢. enticing d. astounding
3. The term ProCESSOT iS +eesssssesssssses CENtral processing unit.
a. the same than b. the same /c. the same as d. similar
4. The troubled executive ................... his control of the company.
a. relinquished b. tempted c. enticed d. conformed
5. The job of a computer operator 1S 10 .ovvvreeenaenens the various machines in a computer
installation.
a. operation ¥b. operate ¢. operator - .. operating

6. Students’ lack of understanding of the basic concepts in computer science may .................

the instructor to restructure the course.

a. necessity b. necessitate C. necessary { d. necessities
7. Very often manufacturers provide ...........ooooeeinene representations of the internal workings
of a computer.

a. diagram ' b. diagrammatic c. diagrammatically d. diagrammed
8. The complete description of the logical structure of data is called the schema and the
description of the parts, the ................ schema.

a. mono b. inter Jc. sub d. bi
) R .. of computers, many t.asks have been made easier.

a. advent b. disruptive c. agile d. acclaim

10. A computing tool that tries to operate in a way similar to the human brain, means .............

a. Data mining b. Data warehouse  c. Cleansed data . d. Artificial Intelligence
11. A computer has often been referred to as a problem .............
J/a. solution b. solve c. solver d. solvable
12. It is sometimes Very ............ to explain computer concepts. \
a. complication b. complicate c. complicating d. complicated
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13. Standard used by software that manages communication exchanges between computers on the

Internet, means:

a. Internet address b. Resolution Protocol
¢. User Datagram Protocol d. Transmission Control Protocol
14. Hackers may ............ pretending to be from your company and ask for your password.
; a. break into b. get into c. hack into d. keep into

15. [ntemét system designed to provide free, interactive access to vast resources for people all
over the world, is:
a. Multimedia b. Expert system
“¢. Information superhighway d. Telecommute
16. A telephone that can translate English into various languages in real-time, means:
/a. Smart phone b. Intelligent agent c. Rocket science  d. Supercomputer
17. An OOP property that allows data and program instructions to be bundled into an object.

{a. Polymorphism  b. Object ¢. Menu d Encapsulation
18. He tried 80 cveereere e the system without knowing the password.
a. closing down b. hacking into c. logging on d. program
19. Windows allows you ................... . two different folders at the same time.
va. to display b. displaying c. display d. that display
20. WHAL the ..o vcvvvviiossos of computers, many tasks have been made easier.
a. haphazardly b. advent { c. disruptive d. adverse

21. Transfer data from a client device to a server computer.

a. Intelligent agent  b. Rocket science  ¢. Supercomputer /d. Upload

22. The user is aware of the effects of different applications programs .............. operating
systems are invisible to most users.
a. in addition / b. although c. because d. such as
23. Welook forward....c..cosuvanensnens cheaper and faster computers.
a. to have b. having /c. to having d. have
24. The ............... of the hazardous gas made it difficult to live in the house.
a. intrude _ b. intruder c. intrusive .d. intrusion

- 359 -



